BuzziNest Pod

INSTALLATION MANUAL




BuzziNest Pod

2 PERS. &

Excluded

L=

Included

0w @y

O wx T =

White @ Orange 4 x 16 mm
M8 x 65 mm

® "0 ®

4,8 x19 mm
M10 x 25 mm

16x

Purple 4 x45mm
M10 x 40 mm









No Table

1x ‘

Optional Table and electrification

4x

M10 x 20 mm
1x -
% | AL
F (

Green
M10 x 40 mm










(D=










O —

(.

[ [
= @
1 (=)
= o
- 3x
M8 x 50 mm

11






10

13



11

30 mm

4x 8 (@

14



15



13

‘\\‘

L=

—
> 9

I~

= |
9}




14

é.

17



—5

1x
M8 x 65 mm

B .

-
M8 x 50 mm

18



16

19



17

20



2]



19

22



® ")

23




21

24



4

x
M8 x 65 mm

[11T IT T
8x

M8 x 50 mm (@ Yellow
[TT T T L1

25



25

26






28



29







31

—)

@ _

31



32



33



34

34



35




36




37

37



38




39

5 mm

Black

{@
x40 mm ac

4x
M8

39









No table

P43

N

Optional Table + Electrification

P48

42

(o




ble




44



ANy

\

=

A P ——

N 4x 7

N 4 x45 mm Purple
M 11

45



6a

i

46




47



Optional Table + Electrification

1

48












)

52



6 mm

53



\

!(@ ‘

4 x 45 mm Purple

54



11 a

==

11b

55







Move Pod

57



IPA A=

58






BuzziSpace Group NV
Italiélei 8, 2000 Antwerp
Belgium

B+32 (0)3 846 10 00
¥ info@buzzi.space

S www.buzzi.space

60

Doc nr.: A-0000007319/02
Last update: 30/11/2023



